INTERMEDIATE ALGEBRA

GPS # 19 5.3 FACTORING POLYNOMIALS NAME: %TM Pdfk" @(,

Useful Guidelines:
Greatest Common Factor: The largest common term that can be factor out from the polynomial.

For example: 3xy? + 6x = 3x(y? + 2) , where 3xis the Greatest Common Factor.

Factoring by grouping: ¢
Step 1: Group the terms so that each group has a common factor.

For example: 6x—6y+2x-2y= (6x-6y)+(2x-2y)
Step 2: Factor out the common factor in each group.

For example: (6x-6y)+(2x—2y)= 6(x—-y)+2(x-y) )
Step 3: Factor out the common factor from the groups, if possible. Otherwise, try a different
grouping. For example: 6(x—y)+ 2x-y)=(x-y)(6+2)=8(x—y) -

1. Factor out the greatest common factor. Simplify the factors, if possible.
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2. Factor by grouping and simplify the factors, if possible.

2) 3x+3y+7x+7y= 3 Csc+y) + 7C >~ ]
SR T 7]

=0y o) [lex tiey

D B3 (en i) + b (Ba T

CEapn) Caek) [ - .

D 4 en 2o Ao (e — (o 1)
2CUmn 1) (L) = (‘-('(M—H)(M-—.Jt)(w\-tﬁ)
© 2ab-2b+l-a = 2L Ca—-1) - (o - D)

=@-1) (261D

3. Solve the equation.
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